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PHYS I Test 1 Review
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TEST 1 Review
Name

Show all work in the spaces provided.

1) Let
Al=3.0mat 8, =160°

—

B|=2.0matg, =0°

—

C|=5.0matg,. =210°

a) Draw the vectors on a coordinate system using the graph paper below. (5 points)
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)'_\vsht s the gymof\fect rs A n terms of its magnitude and direction? (4 points)
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Qa =-93 nist
=0 W= 1V, Goo C40Y)
Y = (31M)s) Cov (407)
¥ W= 63.2m|S
. 0 Vy= 10 Saa (o)
r ) AK* 300 m — v’.= (81.'3) SM (q‘.)
2) ::,:T:::I::xd;;::,:n::fﬁ.ﬁ1_::I,j_wm away on level ground as shown above, The v": 5 7'1 M' s
a) H&mxlo-n'g ﬁoill%m the cannonball to hit the wall? (3 polnts) 9
...— AR - 300 = L'q 2
I - v)\ ’6-%’3%5— S \KI 2°

b) At what height does it hit the wall? (4 points) , 1 °
Ay =Yyt +ayx* z K
44=(57 amls)(4.48) + % SR EICED)

AY= 156.32m

)} What is the speed and direction when it hits the wall? Is it on the way up or down? (4 points)

W= 63.2m VEIVERA
V= Vv oy %

y,= S1ams + 1amls) (449 19)=69.64MS (spud)
Vy=9.08MlS om iAs g wpt =y G\)’?)

O = (l?,:.?lsls)

O=1l.66°~ 12°

- I
1] =[(63.2m9) "+ (14.08nls)"

8y = Vgt +~{4;,x‘
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3) Chameleons catch insects with their tongues, which they can rapidly extend to great lengths. In a
typical strike, the chameleon’s tongue accelerates at a remarkable 250m/s* for20ms , then
travels at a constant speed for another 30ms . During this total time of 50ms, ¥, of a second,
how far does the tongue reach? (12 pts)
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4) In 1780, in what is now referred to as "Brady's

Army escaped certain death from his enemies by
running over the edge of the cliff above Ohio's

Cuyahoga River, which is confined at that spot to a C( =
gorge. He landed safely on the far side of the river. 2

It is reported that he leapt 22 /i across while falling

20/i.
a) What was Captain Brady's minimum speed he

would need to make the leag{9 pcmts)
) g3 19y %
A‘J ’kaa
143

/A[x 22 ﬁe{(—-m,—) _ a A i (16. \)j
=49.9m|s?

£ =\ \13

AX‘VXJt

M o
V= % 6\.\'.1& E,‘l?,h\)s < bhls

b) Is it reasonable that a person could make this leap? Use the fact that the world record for the
A K 100m dash is approximately 10s to estimate the maximum speed such a runner would have.

(3 points)
AX _  loom _
Vo= E = g = IOMs
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